[> Joen2;

4-Pi
> J sin(x)cos(x) dx
5

>
> int(sin(x)*cos(x),x=5

> 242

B Joe :=3;

B 2
> Joe';

> (x+2)°

2
Joe

1 2 1
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cos(5) )
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L 4*Pi);

1 cos(S)z—

1
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Joe =3

(x+2)°

this is just words, don't evaluate. a4 sin(x) = cos(x)

dx

d .
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P sin(x)

> diff(sin(x),x);
B sin(x) -exp(cos(x) );

B S = sin(x) -exp(cos(x));

:Not a function!!!
> f(0);

=> plot( f,x=0.7);
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> g:= X ->sin(x)*exp(cos(x));
g =x—sin(x) e

cos(x)
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i 1.096622711 (20)
| > ?plot3d
> plot3d(x2 +y-sin(2-Pi- x),x=-1..1,y=-1 ..1);

> myplot == plot3d(x2 +y-sin(2-Pi- x),x=-1..1,y=-1.1, styleZpatchcontour);
myplot == PLOT3D(...) (21)




> myplot,

v IIV IIV [

\%

data == [[0, 1], [2,5], [3,-1], [4,2]];
data =[[0,11,[2,5], [3, -1], [4,2]]

> junk == | apple, pear, %, int(sin(x),x), [1,2,3]1};

Junk =

apple, pear, % T, -cos(x), [1, 2, 3]}

(> junk(3];
% -

> junk[2.5];

pear, % T, -cos(x), [1, 2, 3]}

> junk[5];

[1,2,3]

(22)
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> junk[512;

> stuff = junk[21[2];

> pear = [skin, juice, seeds];

> junk[2][2];

> Pi[2];

> [pear[1], pear[3]];
=> data;

=> plot(data);

stuff .= pear,
pear = [ skin, juice, seeds]
juice
1L

2

[skin, seeds]

[[0,1],[2,5],[3, -1],[4,2]]

=> plot(data, style=point);
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[ > plot([data, data], style= [line, point], color = [red, blue], symbolsize =25);
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)
t(data[1..3]
[ > plo




> data[1.3];
[[0,1],[2,5],[3,-1]]

> g = x—ax* +bx+c
q:=x—>ax2+bx+c

> q(0);
C
> ¢(2);
i da+2b+c
> q(3);
9a+3b+c

> solve(q(0) =1,4(2) =5,4(3 ) =1);

Error. invalid input: too many and/or wrong tvpe of arguments

passed to solve: first unused argument is 4*a+2*b+c

9)

> solve({q(0)=1,q(2)=5,q(3 )=-1});

[ > solve(2-x=3);
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